bSvD - T4 —ILEFER - TR - ERE - RES -

6

No.1

bl B0 a—F 2] giey  FUEBRRTERFARELHEAS a—F  [23224021] miE BO B A 9 BB BH R

ER il BEELBERERS BRED/IERATESR iy BRE—BRAEESEEHERES a— K [ 223040 | geie  BH BZ

AfE|  #EA Vlg,n? A E@"}E B4, ] ok % B4 G Bl "}E B4 G ok E B4, G ok

09/17|B1 w1 ] -0.3| 1| FEEES 1|AC—Bjunior| 12.31 2|53 Bm 1|AC—a&junior| 12.47 |3|BHE—E T1|AC—&junior| 12.56 |4|F@&E BR 1|5H0% 12.74
(141 100m 5|hH &kiz 1 |ABII 1279 |6 K& 1|XkA& B2 78 =ZE 1|a0% 13.25 |8|ENELE 1|XA 13.34

9[FE RE 1 |any 1341

09/17| B F e 2| 11| 1 ILE &2 1|KA& 13.42 2[Rl B T1|Kk& 13.56 | S|kE &EA 1 |5HE 13.56 | 4[ALAW@&H7T  1|A0 13,61
(11 100 5[NF HE 1 |MmRACJ 13.80 & B 1|EOLZEE | X =% mR 1|AO x5 EK BE  1|Ac—&junior| Xy

09/17| B F s 3| 2.1 1| RZE —%8 1| RS 13.49 |2|=L &8 1|R®E>-x5—| 13.88 |3|aE Lk 1|AO 207 (4|92 W& 1|-25°7—X| 14.65
(1% 100m SER EE T 569 |6 ER 1RO 474 |T[FE e 1|[2E= 15.32 |8[@mE o 1|REN 7538

09/17| B+ viaswwm| 1| —1.6] 1AL Bath 2 |FaRA CJ .48 2[R WA 2|5 169 |3|AK EC 2|am® 12.14 |4|&% E= 2|Ka& 12.26
(241 100m 5|feE kA 2| KA 1231 6|58 mE 2|=H 1237 |[T|XF &® 2|K2& 12.48

09/T7|BF s 2| +1.5| 1[I0 f@A 2| ARSI 1223 |2|BE0H@E  2|X& 1228 | 3|RE BA 2|A= 277 |[4|/"8 BEX  2|AC—=junior| 12 93
(21 100n SIKE R Z[5AE 05 | (KA BB EEssai-| A%

09/17| BT uwm| 3| 0.6 1|BE B 2| ARSI 13.55 | 2|FE EAF 2|&aE 13.63 || 3 [IaKBzsr 2 |FERACJ 1370 | 4|HRERD 2[R 1374
(21 100n 5(F8 MK 2|#=E 14.56 e R 2[ACc—Fjunior| Xi§

00/T7|BF yuaml 1] 0.0 || 1|9H Ba#h 2 |[FERACJ 23.06 | 2[LAX WA 2|al®H 23.43 3[BT =W 2 |=aH 2815 |4[RA BS 2|adH 2481
200m SR R 25.03 |[6[MA =F 2|am% 25.48

09/17| B+ w2 |1 1| 1| FEE&ES 1|AC—Biunior| 2622 | 2|0 BR 1|a0H 26.48 || 3|57 @MW 2|kA 26.77 |4[FH iz T[S 27.00
200m 5|IN& TEAN 2|AC—Ejwnior| 27.65 | 6|mHE BA 2|KBI 28.02

00/T7| B+ ywm| 3 | +0.2|| 1 [BIELEs 1| XA 27.48 | 2[LE &E T1|XA 27.51 || 3|BZ KB T1|AC—Bimior| 27.54 |4|F% KIE T1|XA& 27.68
200m S[%F #&E  2|KBN 29.98 FEAK O&E 1[ac—Fjumior| XiB

09/17| B+ YR 1 T[FIT & 2|=@ N B 56.07 | 3|MR&h BEsze 2| XA 50.48 |[4[KEE B 2 |aAH T:03. 22
o0 TE Bk 2 |a0®H xkxtgﬁ TLF—8 2| K20 x5 AR BE  2|EULEREE | XbB

09/17| B+ PR 2 =8 B 2|aHE 58.75 || 2| BA 2|EESoRE—| 1.02.73 |3|=E &M 1|EBESoR5—| 1.03.38 |4|llG Rz 1|AO T:03. 715
o0 5% kK 1]ac—Eijunior| 1:04.62 |[6]|KF HB 2[XE 1:04.72

09/17| B+ R TWE = 2|=H 21290 | 2| & 2 |he 2:13.26 |[3|mm B 2| A0 2:20.98 [4[f@AR  ® 2|A=I0 2:23.08
o 5[#E FR%E 2|AC—Zjunior| 2:28 61 | 6@ Ze&l 2 | K2 2:31.57 || 7|k &% 2 |hhe 2:32.70




No.2
Sy D - T4—IL RHEE - FFE - R - R - BBER

bEt B a—F [2] pHas  BUEERBRYRFAELBEAS a— R 23224021 #HE Bo - xm e pU B M e
ER(rilLS BiRELFERENS BREERED/NEREFTESR 51552 2 BAIE— RS EDIGE LHRS a—F 223040 SR BA B2
B At fEH Vlz_,];\ HH E@"E B4 e kg % B4 iE! ke "}E B4 BiE ke E B4 e Fika
09/17|BF Py I & & 2|%he 74780 [2[/NE Y 1|BIAC 54795 [3|mE =B 2|=M 45101 [4[BA BR 2[R 752,05
1500m
5\%E Hoa | |EBx 4:52.18 [[6|HE RE 1|HH% 4:58.85 [[7]&HE #%0 2|Brushup| 5:04.99 |[8[;@IE %8 2|AC—=junior| 5:05.08
I[Em B  2|AB 5.07.26 |10|=% #A 1|Brushup| 51600 | |&E& W= 2|KkO RE AHFBLES 1|A0O 3]
#;ME 1B 2(XKAO Ri5
00/17| B F T ) TIRE FEZE 2|MmRACJ 455 43 |2 |MRas BIze 2| K& 4:56.80 |3 |=H HRE 1|=H 4:58.36 |4|%k  &A 1|AC—=junior| 5:23.87
1500m
5[ TE %5l 2|ECLEEEL | 5.33.13 |[6|FE ek 1|-®5-7—X| 5:.33.28 | 7|=m@ = 1|XKA& 5:38.02 |8|AE BZ 1|CEULZEEEL| 5:40.75
9|hE Bm 1|-85-F7—X| 5.41.31 |[I0|EF %8 1 |&ME 5:55.91 ||[11|#@ #eZzZ 1|AQ 6:15.88 mE BA 1|25 F7—X| XB&
09/17| B+ R T[EE BE 2|A0 9:27.38 |[2[faok TER 2 |EL 9:43.30 3[BT HE 1 |aHH T1:30.37 | 4|110E K& 2|Brushup]| 11.34.60
3000m
A& B 2|=H EhEE A HEE 2(X0O Ri5 k& BEE 2|XO Ri5 —H o 2|X0O Ri5
09/17| B+ RIE 0. 5|1 |%E BE 2|=M 22.27 R Ex: 2|5H% Ri5 =H & T|[AS Ri5
110mH[0. 914m/9. 14m] _ _ _
09/17| B+ REE #HE ER 1 RFE B 2 ¥H Il 2 FlEXZET |
4% 100mR 1{Wx @K 2|&H%ME 46.25 [[2|#E BNFD 2| KA 46.70 ||3|mm mE 2|=M@ 46.91 4|43 BE 1|Ac—BJunior| 48.56
MR E} 2 x5 EZE 2 FREINAER 2 EHEA—E 1
AKX TBD 2 HOEBRE 2 Il 8% 2 g BEA 2
X BA 2 -3 TH Bs |
5B EH 2|KB 53.18 (6[EE #EE 2(XO 55.90 (7|8 BA 1|—-E5>F7—X]| 1:00.07
ByoiEREl 2 EEE ALk 1 FEREKZ 1
WA KA 2 REmEN 1 fiE Bk 1
09/17 i% R T[/NEE Sl 2 | &A% m62 || 2|=@ ZA 2|mHEr 7 BEEEEEEE 63 || 4 |FERIAE  2|=H Tm50
=k
. 5| KEBEMmIF 2|RB md0  [[6| Rk &= 2|AZ)I md0  [[7[HI1 BN 2[R md0 |[8|F#% ¥ 2|AC—=junior| 1m3b5
wae Hx 1|XO 1m30 5% A 2|=H Ri5
09/17 ?%% s REE 128 BZ 2|&H%%E 2m20
=5
00/17 %2 R T|55% Bm T|AC—&jmior| bomob |2 |FBEIAE 2 |=HE 5mb3 || 3 |&HE e 2 |=H bmdd |4 &E  2|EOLEEE | om2l
FENE Bk -0.5 -0.7 +1.2 -0.1
) 5% &ZE 2|XKA& 5m09 || 6 |FFILE—B1 2[|AE) mog |[7|HBA =B 2|XA 4m75  [[8|@EM 1= 2(|=@ 462
-1.4 -0.8 -1.1 -0.3
WE K¥E 2| KA 4m56 BEF XIE T1|AC—Fjunior 4m40 g #Le 1|K0 4m39 A @ 2(=H| 3m80
-1.9 -0.5 -1.1 -0.7
¥AE &hF1 2| KA 3m55
+1.8
09/17 %i; : ,]J&H# 1AW #&FE 2|HEE 9m06 AES EE 2|HHE m98 =H £ 1[RSN Ri5 Al BE O O2|=EH Ri5
2 [5. 000kg
09/17| B F [ &% TRl &= 2 505 26m48 || 2|EHER—ER  1[AC—REjunior| 22m37 |[3|=E —#E 1[|KRS)I 9mi1 4] BFE 2|=H 17m28
FI#3% [1. 500kg]
5% mE 2|=H 4m29 |[6]|FE BE&E 1|a0EH T3m97




No.3
Sy D - T4—IL RHEE - FFE - R - R - BBER

bl B0 a—F 2] giey  FUEBRRTERFARELHEAS a—F  [23224021] miE BO B A 9 BB BH R

ER il BEELBERERS BRED/IERATESR iy BRE—BRAEESEEHERES a— K [ 223040 | geie  BH BZ

AfE|  #EA “Ig,ﬂ? L )Eknlmg B4 PR Eil s % B4 FTE Bl "}E B4 TR Bk E B4 PR Bl

09/17| & F e 11,91 IR &= 1|Xa 418 [[2|BE% =08 1 |aAE 450 || 3| A% T|AC—=Jjunior| 14.65 |4|:BE & 1|XO 14.66
(11 100m [5|2E% &% 1 |MRACJ 1477 |6|EO0 %% 1|=@ 484 [T[AH == 1|h= 14.88

09/17| &%+ whwm 2| -3.8| 1 |RE @ 1= 15.06 |2|E® &H 1 |BAER 15.23 | 3| B T|K& 15.61 |4|=H =& 1|RACI 75. 96
(11 100m EBE(S 1|=H 16.22 6|0 =& 1|=8 16.29 X@ HE 1|=H &HEFS

09/17| & F wm 3| 1.3 1|BH & 1A= 478 2[RI Dx 1|AB 484 |[S[dX BT 1|aaE 1546 | 4|;A == 1|KQ0 15. 72
(11 100n 5/E® =5 1A 610 [6|BBEAE T|XD 617 | [FE %F 1|%E g3

09/17| & F w4 0. 7|\ 1|5 fax  1|XA 453 |2|9%&E BE 1|K2 519 | 3| L& DB 1|A= 5.23 |4 |2B E=2 1= 16. 45
(141 100m 5|EN BE 1= 16.47 [6|&%E w3 1|AS 16.67 |7|=f A8 1)= 17.32

09/17| %+ m| 1| -1.8|| 1 JERIERE 2|AC—&junior| 1313 | 2|&E © 2|KO 13.36 |3 K2 =B 2|RES-RZ—| 13.6] |4|RBRITE 2| =@ 1206
[24£] 100m EEHY

5|[AH FiF 2|AcC—Eimior| 1406 |6|FH BE 2|55 44 7"t & 2|XkA& 445 8Kk == 2|ha 14.53
IERHLY 2|KA ?%%BU

09/17| & vuam| 2| 0.1 1|21 BiZ 2 |=H 438 |2|=@ B*x 2|Kka& 451 |3l T2 2|aHE 460 |[4[FE ZEA 2|aiE 1496

(241 100m S E 15.05 [6|XB #E 2|h= 15.14 |[7[E® ®% 2|mRACJ 15.27 BE B 2|& x5
R EH  2|fE Ri5

09/17| &7 s 1| -1.5(1|=E  © 2|A0 77.57 |2[ERIERE Z|AC—Ejunior| 27.66 |3|EH BEX Z|KA& 2892 |[4[FHF 2R 2|auE 29.58
200m 5|kZ FE® 2[B%R>>24—| 29.71 |[6|FEF =B 1|5H% 30. 80 2R AT 2|— =@ Ri5

00/17| &7 | 2] 41 2|1 Bl w2 |RESURE—| 29.94 |Z|FI nEx  T[RSN 362 |3[HA MFT 1|anH 3338 |[4|EE =8B T[KSI 34,68
2o PG EEIR S 3%5.83 |6[X@E mF 1 |A=JI 39.92

09/17| & = T RE 2|EIAC 2:30.93 |2|BE0 BE 2|=@ 23490 || 3| B8 Rk 2|RESURZ—| 24212 |4|BBE BR 2|GHE 2:42 41
500 S5[RX EF 2[#E 2:42.48 | 6[®INEEE  1[Ac—=junior| 2:47.10 BER HEZE 2(—=@EH Ri5 ®BE\ mxE  1|Hs Ri5

09/17| &7 =TT ) T[BE Bk 2|=H 24460 |2[BF &/E T|R&B 2:51.58 || 3|@3 WA 1 |aHE 2:51.66 (4| K@ H=E 1|=H 2:51.78
o0m 5[EE F=  2|AB 2:56.49 |6[FEHma< 5 1|=@ JOT. 41 | [MRERER 1 |aHE 3]




bSvD - T4 —ILEFER - TR - ERE - RES -

6

No.4

Wt 40 a—F [2] kb g FIARFEERPFRFTARELHRXS a—R 23224021 | FHHE H0 -W AW Hy L AS BH EE
STl EBiRELEHEBE TBEET/NERATER B4 BME—EREERSELFHREEEE a—F 223040 Fldk AT BN B2
A A VIX_,N? il }Eknlmg B4 i, Ei % Bt 4 i, Fila "}E B A4 i I, Eita E BipiE 4, T ok
09/17| %+ R TIE KE 2|ZEIAC 5:00.54 (2| s 2% 1|fRACJ 5:10.80 |3|/NE =& 1|-25°7—X| 5.12.30 | 4|ME BE 2|Brushup]| 5.13.10
1500m
FIBA BEXR 2|AO 5:13.54 | 6|E @@ 2|=H 5:16.91 | 7|[fkE MZ= 1 |fRACJ 5:17.39 |82 =@ 1 |aas 5:25 04
BEEEEE I 5:27.29 |[0|BBA#-E 1|-25-7—X| 536.60 |[I|BEECE 1|05 5:38.97 (12[&# *%*k 2|fmRACJ 5:46. 54
BERX 2= ?2|%= 5:48.30 |[14|F&E <% 2 |=;% 5:48.77 |16[fell %&m  2|k0O 6:05.87 | |t ®ie 2| A= Rz
00/17| &% ] 1| -1.8|1|==Lr> 2=l 17.06 || 2|BA =2 2|&H% 19.78 3| E@ & 2|=H 20.03 |4 |&MR = 2| ARSI 20.47
100mH[0. 762m/8. 00m]
NE B 2B p3=] HRERE 2 |=H p3=] BE =g 2| A P32
00/17| &% viwm 2| H1.4)| 1 Wl MR 2| A& 17.28 [ 2|BA BJ1 2| K2 20.49 | 3|EE BA 1| =M= 21,47 |4|2m E=m 1)=& 22.92
100mH[0. 762m/8. 00m]
SIEREME  2|=H 26. 31 BE 2 2|® p32)
09/17| &% F RIE hE WX 2 TE = 2 TR =1 2 B 2 2
4%100mR 1|#E & 2|kx#& 54.35 (2|m&E w2 2|=m@ 56.47 (3|k# == 1|#%z 56.75 [4l@n FE 2|HuH 56.77
ER mx 2 O & 1 BX HE 2 EE X 1
IE EE 1 =ELYS 2 Ak 28 2 FH BEE 2
B M| 1 #®wRK 8B 1
558 ®£&E 2|KBII 59. 38 RE i 2|x\E %HER1 3-4
S D 2 HPBEED 2
_ HEULL 2 3t 1 _ _
09/77 ?L RIE T[ERE#RS  2|A0 TR AR EEE T35 | 2 [REE Rk Z|AC—Zjnior]  1m3b (428 BEx 2|KZ& m20
=5
AEEEESERIESE 20 ||6|BalEERZ= 1|AH mis  |7|&5@E =@ 1|fRACY mi5 HFE ZER 2|55 x5
09/17| &= RIE 2% ta 1|55 M0 |2 |[AAD YA 2 |GHE 2m20
%Eﬂ% REPE2 14 K2H] x%g ,{
09/77 im% R RIE TRl ®m=  2|k& m33 | 2|RE RZE 2| K& dmid (3[R =& 2| A M6 (|4 |28 BME  1|WRACJ 3m83
B3 -2.9 -0.7 -1.0 -1.4
5[2% tE 1|aaH b1 || 6|fIl FE 2 |mE% 8 [ T[RAL YA 2 |&HE m22(-0.8) |8 ;2| &HE 3m22(=0. 6)
-1.1 -2.1 2nd 3m20 (2. 0) 2nd 3m15(-0. 5)
FEERZE 1 |AS 3m06 BH %% 2|AB ST
-0.7
09/17 %i; : ;ié&ﬁ# T FE =8 2|%a 7 ACEEE R 2T |3 [BASRE 2| ARSI o1 |4 |BM  HkE 2=} 6mo4
212, 7121k
5[HF ®E  2|k0 6m93 || 6| @k 2|=M@ 5mi5 || 7@ WA 1 |aHH A BEEEE IR 4m79
HHF Ex 1|=@ amT
09/17| &= RIE IEESAAA 21m63 || 2 | ASFKEE 2 | AR Tomis (3|58 EL 2| A= Tom35 (4|6 Bk 2|=H@ TOm28
F#24% [1. 000kg]
BR ME 2|=@E x5




